# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SOLICITATION	IFB 17-0655GC	AUTHORIZED BY DATE	Melissa Wendel CPPO. March, 2017 4/7/17
DEPARTMENT	William O'Shea, Neighborhood Services	CONSEQUENCES IF DEFERRED	N/A
PURCHASING REPRESENTATIVE	Gina Collins, 941/749-3045	DATE CONTRACT SHALL BE AWARDED	Seven days after date Posted
SUBJECT	CDBG Samoset Area Intersection Improvements	DATE POSTED	MC 4/7/17 SE DS 4/7/17 SE CC N/A

#### NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Information for Bid (IFB) 17-0655GC for intersection radius and drainage improvements to the lowest responsive and responsible bidder, C-Squared Certified General Contractor, Inc., Bradenton, Florida, for a total offer of \$383,515.44 to include all official items on the Bid Form and 100 calendar days for completion.

#### **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

#### **BACKGROUND/DISCUSSION**

- The work includes intersection radius and drainage improvements along 31<sup>st</sup>, 32<sup>nd</sup>, 34<sup>th</sup> and 36th Avenues East, Manatee County, Bradenton, Florida
- As a result of formal competitive sealed bid procedures, a total of two (2) bidders submitted a sealed bid for consideration. Please refer to the attached bid tabulation for the breakdown of the bids received.
- The bids received has been reviewed by the Neighborhood Services Department project manager for this
  task and has deemed prices fair and reasonanable based on the project manager's opinion of cost for this
  project and past intersection radius and drainage improvement solicitations where bids were received with
  similar pricing.
- On April 4, 2017, a memorandum was received from the Neighborhood Services recommending award to C-Squared Certified General Contractor, Inc, for a total bid amount of \$383,515.44 to include all official items on the Bid Form and using a bid based on a 100 calendar day completion time.
- Funding for this project is from a Community Development Block Grant (CDBG).

	Department Recommendation		CDBG FY15/16 \$415,134.76, 172.9012220.534000/9012220.9100			
ATTACHMENTS		FUNDING COURSE	$\boxtimes$	Funds Verified		
(List in order of attached)	Cost Tabulation	FUNDING SOURCE (Acct Number & Name)		Insufficient Funds		
соѕт	\$383,515.44	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A			



Public Works Department Project Management Division 1022-26th Avenue East Bradenton, 17-34208-3426 Phone: (941)-708-7450 trass.mymanatec.org

April 4, 2017

Bill O'Shea
Community Development Project Manager
Manatee County Redevelopment & Economic Opportunity Department
Community Development Division
1112 Manatee Avenue West
Bradenton, Florida 34205
Phone: 941-748-4501 x6858

Subject:

CDBG SAMOSET AREA INTERSECTION IMPROVEMENTS

IFB #17-0655GC, Project #9012220 Bid Review and Recommendation

Dear Mr. O'Shea:

This letter with attachments summarizes the review of the bids submitted on April 4, 2017 for the subject project. A total of two (2) bidders responded to the invitation for bids which are summarized in the following table:

CONTRACTOR	TOTAL BASE BID PLUS OPTIONAL BID ITEMS				
C-Squared CGC, Inc.	\$383,515.44				
Gator Grading	\$778,485.44				

A bid tabulation and bid checklist is attached and summarizes the unit price bid items and total bid price. The tabulation also indicates the documentation submitted by each bidder.

C-Squared CGC, Inc. has submitted the lowest, responsive bid at \$383,515.44. Based on past project experience, all required bid documentation appears complete, and in checking references, C-Squared has demonstrated the qualifications necessary to perform the work stated in the bid documents. Therefore as Engineer of Record, I would recommend award of the project to C-Squared, Inc. If you have any questions please contact me at your convenience.

Sincerely

Anthony D. Russo, P.E.

Manatee County Public Works

cc: Project File: 9012220 9.2

# TABULATION IFB 17-0655GC- CDBG Samoset Area Intersection Improvement

	BID SUMMARY	C-Squared General Co Inc	ntractor,	Gator Grading				
				3547 53rd Av		2704 105th Street East		
				Bradenton, Fl	34210	Palmetto	, FL 34221	
NO. DESCRIPTION UNI			QTY.	TOTAL BIE	BID PRICE			
1	Base Bid Based on Completion Time of 100 Calendar Days	LS	1	\$278,960.44		\$617,210.44		
2 Optional Bid Items Based on Completion Time of 100 Calendar Days		LS	1	\$109,555.00		\$161,275.00		
Total Bid Plus Optional Bid Items Based on Completion Time of 100 Calendar Days		LS	1	\$388,515.44		\$778,485.44		
	Public Contracting & Environmental Crimes Certification				Yes		Yes	
Bid Bond		4.7			No	-76-E	No	

Keyed By:	Gina Collins, Contract Specialist	4/4/2017 Date
Checked and Reviewed By:	0	4/4/2017
	Anthony D. Russo, PE Engineer of Record	Date
Checked and Reviewed By:	8018man 1	4/4/2017
	Bill O'Shea, CDBG Project Manager	Date

## TABULATION IFB 17-0655GC - CDBG Samoset Area Intersection Improvement

-Squared Certified General Contractor, Inc. Gator Gradino Bid Based on Completion Time of 100 Calendar Days 3547 53rd Ave W #347 2704 105th Street East Bradenton, FL 34210 Palmetto, FL 34221 EST. EXTENDED EXTENDED ITEM DESCRIPTION ITEM NO QTY. UNIT PRICE LI/M PRICE UNIT PRICE PRICE \$14,500,00 \$14,500.00 \$18,365,00 \$18,365,00 101-1 MOBILIZATION LS MAINTENANCE OF TRAFFIC 102-1 LS \$8,800.00 \$8,800.00 \$7,865.00 \$7,865.00 104-10-3 Erosion Control \$4,400.00 \$4,400.00 \$5,548,00 \$5,548,00 110-7-1 MAILBOX, F&I SINGLE (field directed) EΑ 10 \$110.00 \$1,100,00 \$353.00 \$3,530,00 5 120-1 Type 1 Inlet Repair LS 2 \$4,110.00 \$8,220.00 \$13,195.00 \$26,390.00 \$4,800,00 6 120-6 Type 2 Inlet Repair LS \$33,600.00 \$15,691.00 \$109,837.00 911 Type 3 Inlet Repair 6 \$5,050.50 \$30,303,00 \$15,691.00 \$94,146.00 8 285 Type 4 Inlet Repair LS 4 \$5,190.10 \$20,760.40 \$15.540.00 \$62,160.00 425 Type 5 Inlet Repair Я 1.5 2 \$5,585.00 \$11,170.00 \$15,338.00 \$30,676.00 10 425 Type 6 Inlet Repair LS \$5,810.00 \$23,240.00 \$14,481.00 \$57.924.00 425 11 Type 7 inlet Repair LS \$3,250,00 \$3,250.00 \$16,187.00 \$16,187.00 12 430-174-1 PIPE STORM SEWER CULV (RCP) (12") LF 80 \$60.00 \$4,800.00 \$73.00 \$5,840.00 13 430-174-1 PIPE STORM SEWER CULV (RCP) (15" LE 64 \$62.50 \$4,000.00 \$99,00 \$6,336.00 430-174-1 PIPE STORM SEWER CULV (RCP) (18" 14 LF 80 \$65.00 \$5,200.00 \$120.00 \$9,600,00 15 430-174-1 PIPE STORM SEWER CULV (RCP) (36" LF 16 \$350.00 \$5,600,00 \$320.00 \$5,120.00 430-174-2 PIPE STORM SEWER CULV (ERCP) (12"X18") 16 LF 336 \$59.50 \$19.992.00 \$91.00 \$30.576.00 430-174-2 PIPE STORM SEWER CULV (ERCP) (14"X23") 17 LF 96 \$65.00 \$6,240.00 \$12,398.40 \$129.15 SIDEWALK CONCRETE 4" (field directed) 18 SY 200 \$54.00 \$10,800.00 \$76.15 \$15,230.00 19 522-1 SIDEWALK CONCRETE 6" (field directed) SY 80 \$50.00 \$4,000.00 \$88.80 \$7,104.00 20 570-1-2 PERFORMANCE TURF (BAHIA SOD) SY 1.000 \$3.65 \$3,650.00 \$6.30 \$6,300.00 SINGLE POST SIG, RELOCATE (field directed) 21 700-1-50 AS 16 \$110.00 \$1,760.00 \$151.00 \$2,416,00 22 MC. Valve Box Adjustment (field directed) LS 15 \$250.00 \$3,750.00 \$935.00 \$14,025.00 23 ASTM Modified Proctor ĒΑ 5 \$185.00 \$925.00 \$127,00 \$635.00 24 ACI Field Density Test FΑ 44 \$185.00 \$8,140.00 \$38.00 \$1,672.00 25 ACI Plastic Properties Tests (Slump, Air, Temp) EΑ 44 \$40.00 \$1,760.00 \$64.00 \$2,816,00 26 ACI Compressive Strength Cylinders set of 5 EA 44 \$180.00 \$7,920.00 \$127.00 \$5,588.00 27 ACI 44 Compressive Strength Testing EA \$130.00 \$5,720.00 \$64.00 \$2,816.00 TOTAL BASE BID - Based on Completion Time of 100 Calendar \$253,600.40 \$561,100,40 Davs TOTAL CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY 10% OF \$25,360,04 \$56,110.04 BASE BID APPROVAL) TOTAL OFFER FOR BID with Contract Contingency - Based on Completion 1111 \$278,960,44 \$617,210,44 Time of 100 Calendar Days REGULAR EXCAVATION (field directed) \$14.00 \$1,400.00 \$2,800.00 CY \$28,00 120-6 EMBANKMENT (REGULAR) (field directed) CY 100 \$14.00 \$1,400.00 \$44.00 \$4,400.00 3 MC Crushed Concrete Base (field directed) TN 100 \$31.50 \$3,150.00 \$84.00 \$8,400.00 285-710 6.5" ABC-3 BASE COURSE (field directed) SY 50 \$38.50 \$1,925,00 \$81.00 \$4,050.00 337-MC TYPE S-III ASPHALT CONCRETE 1" (INCL TACK COAT) (field directed) ΤN 60 \$160.00 \$9,600.00 \$182.00 \$10,920.00 Endwall 12" (field directed) EΑ 5 \$1,250.00 \$6,250,00 \$1,554.00 \$7,770.00 Endwall 15" (field directed) MC EA 4 \$1,850.00 \$7,400.00 \$1,620.00 \$6,480.00 8 МС Endwail 18" (field directed) EΑ 5 \$2,450.00 \$12,250.00 \$2,006.00 \$10,030.00 Q 430-984-13 MITERED END SECTION-RCP- ROUND, 36" SD (field directed) EA \$2,250.00 \$2,250.00 \$4,770.00 \$4,770,00 10 Endwall 12"x18" (field directed) EA 21 \$1,650.00 \$34,650,00 \$1,547,00 \$32,487.00 11 MC Endwall 14"x23" (field directed) EA 6 \$1,850.00 \$11,100.00 \$1,573.00 \$9,438.00 12 522-1 Miscelaneaous Concrete 3,000psi (field directed) CY \$367.00 \$3,670.00 \$1,235.00 \$12,350.00 13 527-2 DETECTABLE WARNINGS (fleid directed) SF 90 \$29.00 \$2,610.00 \$5,580,00 \$62,00 14 530-3-4 RIP RAP-RUBBLE (fleid directed) TN 10 \$165.00 \$1,650.00 \$866.00 \$8,660,00 15 EXISTING FENCE TO BE REMOVED AND RELOCATED (field directed) 550-MC LF 100 \$6.00 \$600.00 \$47.00 \$4,700.00 550-MC 4' Chain Link Fence including end and Intermediate posts (field directed) LF 200 \$8.25 \$1,650.00 \$74.00 \$14,800.00 17 711-11-125 THERMOPLASTIC, STANDARD, WHITE SOLID, 12" (field directed) LF 1,000 \$4.25 \$4,250.00 \$6.20 \$6,200.00 18 711-11-125 THERMOPLASTIC, STANDARD, WHITE SOLID, 24" (field directed) LF \$6.25 600 \$3,750.00 \$12.40 \$7,440.00 TOTAL OPTIONAL BID ITEMS - Based on Completion Time of 100 \$109.555.00 \$161,275,00 Calendar Days TOTAL OFFER FOR BASE BID with Contract Contingency Plus OPTIONAL \$388,515,44 \$778,485,44 BID ITEMS- Based on Completion Time of 100 Calendar Days

### TABULATION IFB 17-0655GC - CDBG Samoset Area Intersection Improvement

					Contractor, In		Gator Grading		AVERAGE OF	ALL BIDS	ENGINEERS I	STIMATE
Bid Based on Completion Time of 100 Calendar Days							2704 105th Street East Palmetto, FL 34221					
ITEM NO.		ITEM DESCRIPTION	U/M	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRIČE	EXTENDED PRICE
11	101-1	MOBILIZATION	LS	1	\$14,500.00	\$14,500.00	\$18,365.00	\$18,365.00	\$16,432.50	\$16,432.50	\$ 8,309,94	\$8,309.9
2	102-1	MAINTENANCE OF TRAFFIC	LS	1	\$8,800.00		\$7,865.00	\$7,865.00	\$8,332.50	\$8,332.50	\$ 2,742.55	\$2,742.5
3	104-10-3	Erosion Control	LS	1	4 .1 .4 4 .4 .		\$5,548.00	\$5,548.00	\$4,974.00	\$4,974.00	8 2,715.40	\$2,715.4
4	110-7-1	MAILBOX, Fål SINGLE (field directed)	EA	10	\$110.00	\$1,100.00		\$3,530.00	\$231 50	\$2,315.00		\$2,000.
5	120-1	Type 1 Inlet Repair	LS	2		\$8,220.00		\$26,390.00	\$8,652.50	\$17,305.00	\$ 7,500.00	\$15,000.
6	120-6	Type 2 Inlet Repair	LS	7	\$4,800.00	\$33,600.00	\$15,691.00	\$109,837.00	\$10,245.50	\$71,718.50	\$ 7,500.00	\$52,500.
	911	Type 3 Inlet Repair	LS	6	\$5,050.50	\$30,303.00	\$15,691.00	\$94,146.00	\$10,370.75	\$62,224,50	\$ 7,500.00	\$45,000.
В	285	Type 4 Inlet Repair	LS	4	\$5,190.10	\$20,760,40		\$62,160.00	\$10,365.05	\$41,460.20	\$ 7,500.00	\$30,000.
	425	Type 5 Inlet Repair	LS	2	\$5,585.00	\$11,170.00		\$30,676.00	\$10,461.50	\$20,923.00		\$15,000.0
	425	Type 6 Inlet Repair	LS	4	\$5,810.00	\$23,240.00		\$57,924.00	\$10,145.50	\$40,582,00		\$16,000.
	425	Type 7 Inlet Repair	LS	1	\$3,250.00		\$16,187.00	\$16,187.00	\$9,718.50	\$9,718.50		\$4,000.0
		PIPE STORM SEWER CULV (RCP) (12")	LF	80	\$60.00	\$4,800.00	\$73.00	\$5,640.00	\$66.50	\$5,320.00		\$7,200.0
		PIPE STORM SEWER CULV (RCP) (15") PIPE STORM SEWER CULV (RCP) (15")	LF	64 80	\$62.50	\$4,000.00	\$99.00	\$6,336.00	\$80.75	\$5,168.00		\$7,680.
		PIPE STORM SEWER CULV (RCP) (36")	LF	16	\$65.00 \$350.00	\$5,200.00 \$5,600.00	\$120.00 \$320.00	\$9,600.00	\$92.50	\$7,400.00		\$12,000.0
		PIPE STORM SEWER CULV (ERCP) (12"X18")	LF	336	\$59.50	\$19,992.00	\$320.00	\$5,120.00 \$30,576.00	\$335.00 \$75.25	\$5,360.00	\$ 175.00	\$2,800.0
		PIPE STORM SEWER CULV (ERCP) (14"X23")	LF	96	\$65.00	\$6,240.00	\$129.15	\$12,398.40	\$97.08	\$25,284.00 \$9,319.20	\$ 90.00 \$ 120.00	\$30,240.0
	522-1	SIDEWALK CONCRETE 4" (field directed)	SY	200	\$54.00	\$10,800.00	\$76.15	\$15,230.00	\$65.08			\$11,520.0 \$7,000.0
	522-1	SIDEWALK CONCRETE 6" (field directed)	SY	80	\$50.00	\$4,000.00	\$68.80	\$7,104.00	\$69.40	\$5,552.00	\$ 40.00	\$3,200.0
20	570-1-2	PERFORMANCE TURF (BAHIA SOD)	SY	1,000	\$3,65	\$3,650.00	56.30	\$6,300.00	\$4.98	\$4,975,00	\$ 3.00	\$3,000.0
		SINGLE POST SIG, RELOCATE (field directed)	AS	16	\$110.00	\$1,760.00	\$151.00	\$2,416.00	\$130.50	\$2,088.00		\$3,200.0
22	MC	Valve Box Adjustment (field directed)	LS	15	\$250.00	\$3,750,00	\$935.00	\$14,025.00	\$592.50	\$8,887.50		\$3,750.0
23	ASTM	Modified Proctor	EA	5	\$185.00	\$925.00	\$127.00	\$635.00	\$156,00	\$780,00		\$450.0
24	ACI	Field Density Test	EA	44	\$185.00	\$8,140.00	\$38.00	\$1,672.00	\$111.50	\$4,906.00		\$968.0
25	ACI	Plastic Properties Tests (Slump, Air, Temp)	EA	44	\$40.00	\$1,760.00	\$64.00	\$2,816.00	\$52.00	\$2,288,00	\$ 100.00	\$4,400.0
26	ACI	Compressive Strength Cylinders set of 5	EA	44	\$180.00	\$7,920.00	\$127,00	\$5,588.00	\$153.50	\$6,754.00	\$ 110.00	\$4,840.0
27	ACI	Compressive Strength Testing	EA	44	\$130.00	\$5,720.00	\$64.00	\$2,816,00	\$97,00			\$660.0
		TOTAL BASE 9ID - Based on Completion Time of 100 Catendar Days				\$253,600.40		\$561,100.40		\$407,350.40	T Tab	\$298,175.8
		CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)		F TOTAL SE BID	* *	\$25,360.04		\$56,110.04	. 474	\$40,735.04	1-1-1	\$29,617 5
		TOTAL OFFER FOR BID with Contract Contingency - Based on Comple Time of 100 Calendar Days	etion		hi a	\$278,960.44		\$617,210.44		\$448,085.44		\$325,793.4
		REGULAR EXCAVATION (field directed)	CY	100	\$14.00	\$1,400.00	\$28.00	\$2,800.00	\$21.00	\$2.100.00	\$6.00	\$600.0
	120-6	EMBANKMENT (REGULAR) (field directed)	CY	100	\$14.00	\$1,400.00	\$44.00	\$4,400.00	\$29.00	\$2,900.00	\$12.00	\$1,200.0
		Crushed Concrate Base (field directed)	IN	100	\$31.50	\$3,150.00	\$84.00	\$8,400.00	\$57.75	\$5,775.00	\$24.00	\$2,400.0
		6.5" ABC-3 BASE COURSE (field directed)	SY	50	\$38.50	\$1,925.00	\$81.00	\$4,050.00	\$59.75	\$2,987.50	\$24.00	\$1,200.0
		TYPE S-III ASPHALT CONCRETE 1" (NCL TACK COAT) (field directed)	TN	60	\$160.00	\$9,600.00	\$182.00	\$10,920.00	\$171.00	\$10,260.00	\$95.00	\$5,700.0
		Endwall 12" (field directed) Endwall 15" (field directed)	EA	5	\$1,250.00	\$6,250.00	\$1,554.00	\$7,770.00	\$1,402.00	\$7,010.00	\$1,000.00	\$5,000.0
100000		Endwall 15" (field directed)	EA	4	\$1,850.00	\$7,400.00	\$1,620.00	\$6,460.00	\$1,735.00	\$6,940.00	\$1,000.00	\$4,000.0
		MITERED END SECTION-RCP- ROUND, 36" SC (field directed)	EA EA	5	\$2,450.00 \$2,250.00	\$12,250.00	\$2,006.00	\$10,030,00	\$2.228.00	\$11,140.00	\$1,000.00	\$5,000.0
		Endwall 12"x18" (field directed)	EA	21	\$1,650.00	\$2,250.00 \$34,650.00	\$4,770.00 \$1,547.00	\$4,770.00 \$32,487.00	\$3,510.00	\$3,510.00 \$33,568.50	\$3,000.00	\$3,000.0
		Endwall 14"x23" (field directed)	EA	6	\$1,850.00	\$11,100.00	\$1,573.00	\$9,438.00	\$1,711.50	\$10,269,00	\$1,000.00	\$21,000.0
		Misceleneaous Concrete 3,000psi (field directed)	CY	10	\$367.00	\$3,670.00	\$1,235.00	\$12,350.00	\$801.00	\$8,010.00	\$300.00	\$6,000.0 \$3,000.0
		DETECTABLE WARNINGS (field directed)	SF	90	\$29.00	\$2,610.00	\$62.00	\$5,580.00	\$45.50	\$4,095.00	\$30.00	\$2,700.0
		R/P RAP-RUBBLE (field directed)	TN	10	\$165.00	\$1,650.00	\$866.00	\$8,660.00	\$515.50	\$5,155.00	\$100.00	\$1,000.0
		EXISTING FENCE TO BE REMOVED AND RELOCATED (field directed)	LF	100	\$6.00	\$600.00	\$47.00	\$4,700.00	\$26.50	\$2,650.00	\$15.00	\$1,500.0
	550-MC	4' Chain Link Fence Including end and Intermediate posts (field directed)	LF	200	\$8.25	\$1,650.00	\$74.00	\$14,800.00	\$41.13	\$8,225.00	\$15.00	\$3,000.0
	711-11-125	THERMOPLASTIC, STANDARD, WHITE SOLID, 12" (field directed)	LF	1,000	\$4.25	\$4,250.00	\$6.20	\$6,200.00	\$5.23	\$5,225.00	\$5.00	\$5,000.0
18	711-11-125	THERMOPLASTIC, STANDARD, WHITE SOLID, 24" (field directed)	LF	600	\$6.25	\$3,750.00	\$12.40	\$7,440.00	\$9.33	\$5.595.00	\$10.00	\$6,000.0
		TOTAL OPTIONAL BID ITEMS - Based on Completion Time of 100 Calendar Days		37		\$109,555.00	15.93	\$161,275.00		\$135,415.00		\$77,300.0
	TOTAL OFFER FOR BASE BID with Contract Contingency Plus OPTIONAL BID ITEMS- Based on Completion Time of 100 Calendar Days					\$388,515.44		\$778,485.44	341	\$583,500 44	77.5	\$403,093.4